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TABLEAU DE CONTENANCE C1
Désignation Type Surface m?| |Désignation Type Surface m?| |Désignation Type Surface m?| |Désignation Type Surface m?| |Désignation Type Surface m? C2
1 Cl1 42 m? 4 Cl1 38 m? 4 Cl1 38 m? 10 C1 38 m? 13 Cl1 37 m? C3
C2 -- C2 4’7 m? C2 53 m? C2 4’7 m? C2 47 m? C4
C3 19 m? C3 16 m? C3 15 m? C3 -- C3 15 m? CS
C4 -- C4 20 m? C4 20 m? C4 20 m? C4 20 m? Co
C5 -- C5 22 m? C5 22 m? C5 26 m? C5 22 m?
Co -- Co6 22 m? Co 22 m? C6 18 m? Co 22 m?
2 C1 37 m? 5 C1 38 m? 8 C1 38 m? 11 Cl1 38 m? 14 Cl1 42 m?
C2 4’7 m? C2 4’7 m? C2 53 m? C2 4’7 m? C2 --
C3 15 m? C3 -- C3 15 m? C3 16 m? C3 19 m?
C4 20 m? C4 20 m? C4 20 m? C4 20 m? C4 --
C5 22 m? C5 26 m? C5 22 m? C5 22 m? C5 --
Co6 22 m? C6 18 m? C6 22 m? C6 22 m? C6 --
3 C1 34 m? §) C1 37 m? 9 Cl1 37 m? 12 Cl 34 m?
C2 37 m? C2 46 m? C2 46 m? C2 37 m?
C3 27 m? C3 15 m? C3 15 m? C3 27 m?
C4 20 m? C4 20 m? C4 20 m? C4 20 m?
C5 16 m? C5 22 m? C5 22 m? C5 16 m?
Co -- C6 22 m? Co 22 m? Co --
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